EARAROBREBRT —5 XN—ZXBISH—F

20224688298 (B) SmIEERSH

11R RIBREH]

A—i SRR

BN R

[AE%] 17%:1,200,000 F ~ 27&:420,000 @  37%&:240,000 3 ~ 43:120,000 @ 5 7&:60,000 F

B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
we A : -8-6- - FEEE (KR
: 4| BTV IR e B 7 ) 1.(5_3).7 8-8-6-4 | 37.1 4 (4_758) jcéu%#ﬂa;
R:YF—ZUPY BIFVY-IARIAL )t}
< LUIZSESE, : -2-2- - BRI (KR)
2077 | AV I3DAALRA "4ED 7 R 1 (4:522) AT
R:/PITIURN B:XAY3avynNoQ =IB%is
= ty 7 | HER 1:54.4 3-3-3-3 [38.5| — 6 498 | MIIBE (KR
3(88 rStEF 56.0 (79%) #2) ERERE
Ri—=5—IvT B:7RIAVPSvT RS
. < LLIZAEES : -5-5- - Rk — (BRR)
N - BEEEPy; "5 KD R A IR ke ol | Smmn
R:TUA—Y B:IAXNAFFT HET7—L
R E*]\% . —A—7— —_ Eﬁ*ﬂ (E[ﬁl)
5 3 HYLALT A i o6 s (12515/28) 6-6-7-7 | 39.1 5 (4+713) e
RIZAXATTZwWwIR B:ZAXAh70-5 U5 ENHS
o~ <, EAIG : -1-1- - REAR (KR
6 ) | Sy TEYR i o6 oAt 1(75?:59 1-1-1-1 | 40.3 2 (4:372) el 7
R:ZA9—UvoO0—X B:ALYI—HLv bk =E B
- S5 | mmEe . 4t - PEIA (KR
715 5| RISARAR YWD 7l o e e O | memn R
R:O—IVFUY B:RIA My/N— HBIT7—L
N - ~, ROB— : -7-8- - NEEE (KR
8l1]1|FLRFA%YD 57 56.06 1.(5‘8.7 7-7-8-8 | 39.6 7 (4_872) Hres 7
RFA—TAVNT~ B:vI1—< J—HUT7—L
@ 11— —BBIEfI
10—+— 2,7,8,5,6,3,1,4
20—F— 2,7,8,5,6,3,1,4
3J0—7— |2,7,8,5,6,4,3,1
43— — (2,7),8,4,5,6,3,1
o ILRE
B B 4 850/ AR 4-7 3004 5= 4-7 9304 3EE 4-7-8 2,420M
7B B 4 150 4-8 1,080MH4 ==} 4-7 2,500 3EH 4-7-8 16,450/
7 120 7-8 540
8 260

ABIC OV TRUTEREERRODDZE. THRIIZEL.




